Ch4y Exar4  [998

PRINT Your Name:
There are 9 problems on 4 pages. Problem 1 is worth 20 points. Each of the

other problems is worth 10 points. SHOW your work. | CIRCLE | your answer.
CHECK your answer whenever possible. No Calculators.

1. Let
] -3 0 5
1 0 1 2
A= 1 -1 0 and b= 1
1 0 -1 4

(It might be to your advantage to notice that the columns of A form an
orthogonal set.)

(a) Find a matrix B so that BA is equal to the 3 x 3 identity matrix.

(b) Solve Az =b.

2. Define “column space”. Use complete sentences.

The colamn space ota maficx Is The weeto Spzee thiiee, 15
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